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OBE
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1 [Sketch the root locus of the transfer function whose open loop transfer function is 10 [CO4| L4
G(S) — #
s(s+2)(s+4)

2 For the closed loop transfer function when the input is unit step 10 |[CO3| L3
C(s) _ 16

R(s) s?+4s+16
Maximum overshoot, Peak time and settling time.

. Determine undamped natural frequency, damping ratio,

3 |A unity feedback system is characterized by open-loop transfer function 10 CO3| L3
G(s)=—; 10 . Determine steady state errors for unit step, unit
s°(1+0.4s)(1+0.35s)

ramp and unit parabola.

Determine the range of K for stability of unity feedback system whose open loop

) transfer function is G(s):L using Routh Hurwitz criteria. 10 co3| L4
s(s+1)(s+2)
S |Determine if the pole nearest to the imaginary axis is at least -0.75 away from [10 CO3| L4
imaginary axis, for the system given by characteristic equation
s* +5s° +10s* +10s +4=0
6 |A unity feedback control system has an open loop transfer function 10 CO4| L4

K
G(s) =
() SiSZ+4S+13i

Sketch the root locus.

7 |Determine the frequency domain specifications for the unity feedback system 10 CO4| L3

225
()= s(s +6)
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